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Quest

i 0
SECTION - A

pe questions carrying

jon Nos. 1 to 12 are Multiple Choice ty
12x1=12

1 mark each.

1.

Given below are two statements :

There were sections of Sovi
moved much faster and were disappointed

Statement-I : et society which felt that

Gorbachev should have
and impatient with his methods.

Statement-I1 : Communist Party an
system felt that their power and privile

Gorbachev was moving too quickly.

d those who were served by the
ges were eroding and

Option :

(A) Both Statement-I and Statement-II are true.
(B) Both Statement-I and Statement-II are false.
(C) Statement-I is true, but Statement-11 is false.
(D) Statement-I is false, but Statement-II is true.
Which leader played an important role in the disintegration and coup

against Soviet Union ?
(A) Boris Yeltsin (B) Nikita Khrushchev

(C) John F. Kennedy (D) Joseph Stalin

In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the appropriate option as correct answer :
Assertion (A) : The government suspended the freedom of press and

implemented press censorship during emergency in

1975.
Reason (R) : Newspapers protested against censorship by showing the

cartoons only.

Option :
(A) Both the Assertion (A) and the Reason (R) are correct, and the Reason

(R) is the correct explanation of the Assertion (A). ,
(B) B{}t}.l the Assertion (A) and the Reason (R) are correct, but the Reason
- T(Rg;; not tl:le cnrre‘ct .explanation of the Assertion (A). ’
o aaert%on (A) f!.S incorrect, but the Reason (R) is correct.

e Assertion (A) is correct, but the Reason (R) 1s incorrect.
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4. 1975ﬁmﬁmﬁmﬁmﬁfﬁﬂ
(A) st Tead (B) el @Il
(C) uwe fage (D) aTEd AHAN

5. Wﬁmﬂﬁ%aﬁﬁﬁnﬁfﬁaﬁﬂmﬁwwwﬁm=
(A) Wﬁmngsgﬁma.w#mﬁmfwwm'
(B) WRd NPT & @9+ 4 21 |
(©) 379 e 3 e v & o et e ol < e ) el 61 1 AR
(D) ey wfyar & figerrs @ 9 |

6. @M aorfifas a3 v & geet 3 A drhan i 16 #id idf 3t gEt e
R ?

(A) FEfre widl Hiw 3foean
(B) wrdtg 5+ @y
(C) wmwferz g

(D) =7 urdf

7. {f.w. & we fega w9
(A) wfRes Dfdn ovig
(B) &h aifén mefiq
©) xS e wei
(D) se®m 9if¥n oy



T 0
On which one of the following basis was omergency docin vod in 19767
(A), Internal disturbances (B [xternal thrent
(C) Armed rebellion (D) External Aggression

Choose the correct statement about India’s nuclear policy from the

statements given below :

(A) India's nuclear programme Wwas started in 1952 under the guidance

of Homi J. Bhabha.
(B) India was in support of the NPT.

(C) Now India has made it clear that the policy of mo first use’ can be
reviewed.

(D) Nehru was not against nuclear weapons.

Which political party won 16 Lok Sabha seats and was at second place in

the first General Election of India ?
(A) Communist Party of India

(B) Bharatiya Jan Sangh

(C) Socialist Party

(D) Swatantra Party

Choose the correct full form of the EVM.
(A) Electric Voting Machine

(B) Easy Voting Machine

(C) Electronic Voting Machine

(D) Election Voting Machine
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10.

Choose the correct option to fill in the blanks :

Indira Gandhi and Z.A. Bhutto signed ______ agreement in the year
Options:

(A) War, 1971 (B) Peace, 1971

(C) Shimla, 1971 (D) Shimla, 1972

Match the terms given in Column-A correctly with Column-B and choose

the correct answer from the codes given below :

R Edlu;mtA____ - Column-B B
(a) | Balance of Power (i) | Giving up certain types of weapons |
“(» Disarmament (i) | Security |
(c) Mi gTat.ion | (iii) | Traditional security _][
(d)  Freedom from threats (_w} _J_New source of threat _ﬂ

Codes:

(@) (b) () (d)
(A) Gi) @) Gv) (@)
(B) Gv) (1) i) G1)
(C) (v) @) @) @
(D) G Gv) (i) @

Arrange the following in chronological order of their happening :
(i) India-China War

(ii) India’s first test of a nuclear device

(iti) Terrorists attack on World Trade Centre in America

(iv) The Anti-Ballistic Missile Treaty

Choose the correct option :

(A) (D), (D), (i), (v) (B) (id), Gv), (i), (@)

(©) (iv), (@, (iid), (1) M) (), (v), (i), (i)
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11.

12.

13.

14.

15.

16.

17.

ﬂﬁﬁiﬂﬁsil
ﬂmﬁ“fﬁiﬂﬁﬂﬁmwﬂqm (B) e eI
(A) IieThies dfd WWW

)

(C) [ifRae Wi ®
m-zﬁﬁqﬁ-‘fﬁaﬁﬁﬂwaﬁﬁ“ﬁ%? .
(A) afvas g (B) W%ﬁt—
(©) g & dr-al ) Fof

TE-U 6x2=13

1970#mﬁﬁﬁammmﬁ=ﬁau§amﬁﬂhﬁmﬁﬁﬁﬁml
HTiTH T 1 Tk = TawA % w9 3 faveryu Hifg |

IQTBﬁW%ﬁﬁﬁW%ﬁﬂﬁawﬁaﬁm%I




i -

11. Which one among the following agreements was to cut the green house

gas emissions ?

(A) Antarctic Treaty
(B) Kyoto Protocol
(C) Montreal Protocol

(D) Antarctic Environmental Protocol

12. Agenda-21 contains a list of

(A) global commons (B) development practices
(C) polluting practices (D) developed countries
SECTION-B 6x2=12

13. State any two major policy decisions taken by the Chinese leadership in

the 1970s.

14. Analyse the Congress Party as an ideological coalition.
15. Explain any two reasons for the split in the Janta Party in 1979.

16. Suggest any two ways to reduce economic disparity between the poor and

the rich countries at the global level.

17. Explain any two differences between the First Five Year Plan and Second

Five Year Plan.

18. State any two methods of Traditional Security.

59/2/3 ~ @ Page|11|® ~ P.T.O.



e 0
@UE -1 bxd4=230

19 (1) 1989 @ Wi d 1@y TarEffa & v 7@ Gl IEITE F R 2 el ®) ww
#fu

Yl

MYl g Y e ﬁm‘g] il tﬁaﬂ &1 =TT ?ﬁﬁ‘vl"! |
aar ¥ ey v Y RwieA & el TR R #1 fyvsn $ifv |

#sﬁfﬁﬂnmﬁwﬂﬁmwm@mﬂﬂﬁmﬁaﬂﬂﬁm
TS F TREA % IR fveryn $if |

KiE|

I srederaen § guT g3 & S wwl & R ) g &1 ey T8 R |-
5= 578 2 oot a0 et Eifdre |

s T

22 mem¢mmmﬁm|

" PO ) S g 3 o st i o g ol A e
ﬁmﬁm%,

59/2/3

® Page  2]@ ~ *



by O

SECTION-C 5x4=20

19. (a) Explain any two reasons for the beginning of a long phase of coalition

politics in India since 1989.
OR

(b) Explain the role of ‘Other Backward Classes’ in the Indian politics.

20. Analyse any four reasons for the split in the Congress Party in 1969.

21. (a) Analyse the basis of projecting China to overtake the US America to

become the world’s largest economy.
OR

(b) “While the Chinese economy has improved, not everyone in China

received the benefits of the reforms.” Analyse any two reasons for

this.

99 Describe the impact of globalisation on the Indian culture.

it

23. Highlight any four Directive Principles of State Policy that have been

included in the Constitution of India for International peace and gecurity.

59/2/3 ~ @®@Page|13|® ~ P.T.O.*



24.

(24.1)

(24.2)

(24.3)

(24.4)

ﬁqmﬁawmmﬂﬂﬁaaﬂtﬁqwﬁ%mﬁi
(f&ﬂlwﬁlﬁ?ﬁgﬁmm*@@%ﬂmmﬁﬁmﬁmi )

s o
gx4=12

gE—-H
1+1+1+1=4
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35 e i A |
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(A) T (B) =
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(A) T (B) ==
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(A) ¥ (B) &3 3r=

(C) T4 (D) ¥
w@%&mmmm%&tﬂﬁéﬁmmmwﬁmm?
(A) a gaEmg=l W = wnfig & |

(B) 3839 &1 Y- &= W HE |
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SECTION-D Sxec12

Study the given pic
g, Picture and apgyer the questions that follow :

(The given cartoon i N 1+41+1+1=4
18 about USA s invasion on a Gulf Country.)
R NOW THAT we've DESTROVED YOUR
COUNTRY, YOU CAN PAV
US TO REBUILD IT.
WE ACCEPT unl..
RESOURCES, LIKE
OIL, As PAYMENT.
(24.D Which one of the following is the most important resource in
global strategy ?
(A) Water (B) Oil
(C) Land (D) Automobile
(24.2) Which of the following regions accounts for about 30% of global oil
production ? .
(A) Europe (B) China
(D) Japan

(C) Gulf Region

(24.3) Which Gulf country was invaded by US America ?

(A) Iraq (B) Saudi Arabia
(C) Kuwait (D) Iran |

(24.4) What was the objective of the United States of America to attack
the Gulf country ? .

lont
(A) To get contro
(B) To get the territory of a country
(C) To establis
(D) To stop USSR fro

P.T.&*
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(24.3)
a@%hmmaﬁwaﬁmwmmﬁm l

(24.4)

25. ﬁmmmwmmmmmmﬁ%mﬁi; 1+1+1=4
m@mﬁmﬂﬁaﬁmmﬁﬁqﬁﬁaﬂﬁﬁﬁmw%mﬁ

B EEd g |ﬁﬁﬁt1991ﬁﬁﬁﬁﬁ%ﬁqﬁﬁ,w,§naﬂﬁaﬁﬁﬁﬁww

£ T T A A | e O 6 wgh T e g T S wEd anean
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(25.1)  dfead 59 F 91¢ 5 <91 g0 F 14 91 SSRGS 39S 74T 7

(A) wETwETE (B) U= 3 SeATEE
(C) @r=Ere (D) SrHaTES

(25.2) fr=fafed 4 3 9 @ sy aifags 9 w1 wofasd & 7
(A) acTEd (B) T#FA

(C) Hiaded ATE seUse W@ (D) FH
(25.3) frafafEadasRazn g imEeng 7

(A) === (B) erfiram
(C) wfafram (D) SerraE
(25.4)  wfawa ¥ & F & W B GRS GETYAT P 9T e oy 2
(A) =i g0
(B) =ea ufirr munrsy
(C) e
(D) SrArafRaT

59/2/3 ~ B Paoe |1 aa



Note ! The follows; 0
Cand;i IDg questio 1 .
ndidates in | ns are only for the Visually Impaired
(24.1) Name th l1eu of question number 24. 1+414+1+1=4
(24.2) € the largest oil producer country.
— - w hich .
world ? region produces 30% of the total oil produced in the
(24.3) :
o Which Guif country was invaded by USA ?
(24.4

Es i .
Xplain the objective of the US to attack the Gulf country.

o L]

Eﬁ?{:}(};‘-t:he passage given below carefully and answer the questions that
i 1+1+1+1=4

The Central Asian republics did not ask for independence and
wanted to remain with the Soviet Federation. In December 1991, under
Ehe _leadf:rship of Yeltsin, Russia, Ukraine and Belarus declared that the
Soviet Union was disbanded. The Communist Party of the Soviet Union
was banned. Capitalism and democracy were adopted as the bases for the
post-Soviet republics. The declaration on the disintegration of the USSR
and the formation of the Commonwealth of Independent States (CIS)
came as a surprise to the other republics, especially to the Central Asian

ones.
(25.1) Which ideology was adopted by the post-Soviet countries ?
(A) Socialist (B) Capitalist and Democratic
(C) Communist (D) Democratic
(25.2) Which republic among the following became the successor of the

Soviet Union ?

(A) Belarus

(B) Ukraine

(C) Commonwealth of Independent States

(D) Russia
e of the following is & Central Asian country ?

(B) Dagestan
(D) Czechoslovakia

(25.3) Which on
(A) Chechnya

(C) Tajikistan
ion had vast hydrocarbon resources ?

(B) Central Asian Republics
(D) Czechoslovakia

(25.4) Which part of Soviet Un
(A) Eastern Europe

(C) Yugoslavia
~ @ Page|17|® ~ P.T.O.*
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26. ﬁqwm%mﬂﬁrﬁ@-mhaﬂ,annaﬁaﬁm, (B),(C)W(D)ﬁmaaﬁm
R Iaﬁﬂﬂiaﬂﬂﬁ%aﬂwmsﬂuﬁzﬁwﬁﬁmaﬂtyﬁmﬂﬁ%ﬂﬁ

mmm,maﬁnﬁaﬂﬁrﬂaﬁrmmﬂmﬁﬁamﬁﬁqwm%
1+1+1+1=4

e faf
v ) T S | WIS § Gt S =41 % AW
-;jw .
(i)
(i1)
(111)
| (iv)

(i) 9% U9 FE] Uera T Ee g o |

(i) & T el H0 ST 7 T & |

(iii) Eﬂﬁ:ﬁaﬁﬁmﬂm (Tge yrifeEiiel Tee-u) 3 SihauT 941 2004 § feepra
|

(iv) =& T4 & 1989 3 1991 F A1 § aga GHTS UTE] I THera e |
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. In the given wlitie .
26 bpolitienl outline map of India, four states have heen marked

as (A, (B, (¢
( (Y and (1 ldentify these states on the basin of the

information pive
BIVen holow md weite their correct nmMes (N YOUr nnswer-

book !llnllg wit | .
Ve vespoctive sorinl numbers of the information used and

the concernge
od alphabers A8 por the format that follown L+l 41 +1=4

J b‘r.rinl number for (he Alphabet Name of the
: information used concerned Statow
)
‘ () |
| () .
(aw)

W The state, where the assassination of Rajiv Gandhi took place.
(1) The state where Karpoori Thakur was a Chief Minister.
ai) The state where UPA won the majority of seats in Lok Sabha

clections in 20041,
where  Bahujan Samaj  Party  (BSP) achieved a

(v)  The state
breakthrough in 1989 & 1991 elections.

) INDIA

) Political
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— .Pagellgl.

o



e : mmmmqﬂmtm
| Prer % T fafag 1+1+1+1=4
(4 :
(26.1) 3q 759 1 A ferfe el arefta i) Y wen gd o |

(26.2) g T &1 A fafge sl F6 are g v 9

39 T %1 AW faftae T 1989 3 1991 a;g:rm'iﬁagrﬂnmﬁmﬁﬂm

(26.3)
gheral fueft |
(26.4) 1989 H ¥z § HEHR T AT TIFYA 1 AW ferfan |
WE—T 4%6=24
27. (a) W i i oftfeufeai @ vl ifse e srata o gfea amam &1 9
e | 3x2=6
rgar
(b) 1949 # uforg & wwa 4§ faerw & foru Iewer wRfRufrat aur gefir gearati &
a3 Hiferg | 3+3=6
28. (a) mmmﬁ%ﬁammmﬁamaﬁmam
I @ Fif | 3+3=6
YaT
() s e 3 e e % Pt 21 e e 2 35 ol 21w e
IR | 3+3=6
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Note: The following - - 0
Candid Ates § €stions are only for the Visually Impaired
In lj .
1€u of question number 26. Name the following :
(26.1) Nametheat 1+1+1+1=4
ate where Rajiv Gandhi was assassinated.
(26.2)  Name
the state Where Karpoori Thakur was a Chief Minister.
(26.3)  Nam
© the state where Bahujan Samaj Party (BSP) achieved a
b :
reakthrough in 1989 & 1991 elections.
26.4 :
( ) Name the alliance that formed government at the centre in
1989,
SECTION - E 4x6=24
27. (a) Describe any three circumstances under which the State
Reorganisation Commission was constituted. 3x2=6
OR
(b) Describe the circumstances and events that led to Manipur’s
accession to India in 1949. 3+3=6
. monalities and two differences between
28. (a) Explain any WO ¢ont e e s e
i in their democratic experiences. 3+3=
Bangladesh and Pakistan
OR
Explain any two 1ssues of co-operation and two 188ues of
a
(b)  Exp 3+3=6

tation between India and Bangladesh.
on
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29.

30.

(a)

(b)

(a)

(b)

i -

.
alyse any three rensons for the disturbanee nand unrest in

Kashmiy, "

OR

Suggest any three measures to maintain peace in Jammu and

Kashmir, M

Explain the importance of International organisations like the

United Nations in the contemporary world. 8
OR
Explain any four changes that have occurred after the Cold War and
4%x1%=6

have affected the realities of the world politics.
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